SUPPLEMENTAL INTERLOCAL CONTRACT NO. 1 SLOAN LANE VEGAS VALLEY DRIVE TO RUBY CREEK DRIVE

THIS SUPPLEMENTAL INTERLOCAL CONTRACT NO. 1 is made and entered into this 8TH day of September 2022, by and between Clark County, a political subdivision, hereinafter referred to as "COUNTY" and the Regional Transportation Commission of Southern Nevada, hereinafter referred to as "RTC." The COUNTY and RTC are collectively referred as the "PARTIES."

WITNESSETH

WHEREAS, the RTC approved Interlocal Contract 1307 dated September 9, 2021, for improvements to Sloan Lane, Vegas Valley Drive to Ruby Creek Drive, hereinafter referred to as "PROJECT," and

WHEREAS, Nevada Revised Statutes (NRS) Chapter 277.180 authorizes any one or more public agencies to contract with any one or more other public agencies to perform any governmental services, activity or undertaking which any of the public agencies entering into the agreement is authorized by law to perform and refers to such as an interlocal contract; and

WHEREAS, the COUNTY agrees to conform to the current RTC Policies and Procedures, as amended and incorporated herein by reference; and

WHEREAS, the COUNTY wishes to increase total PROJECT funding; and

NOW, THEREFORE, in consideration of the covenants, conditions, agreements, and promises of the PARTIES hereto, the PARTIES agree to proceed as follows:

SECTION II: PROJECT COSTS; Paragraphs 1 and 2 shall be revised to read as follows:

- 1. The total cost for this contract shall not exceed \$14,000,000.00.
- 2. Authorizations to Proceed (ATP) are granted as follows:
 - a. ENGINEERING not to exceed \$0.00
 - b. RIGHT-OF-WAY not to exceed \$0.00
 - c. CONSTRUCTION not to exceed \$14,000,000.00

The remainder of Interlocal Contract 1307 dated September 9, 2021, shall remain unchanged.

The remainder of this page is left intentionally blank.

IN WITNESS WHEREOF, this Supplemental Interlocal Contract No. 1 is effective as of the date first set forth above: Date of Commission Action: REGIONAL TRANSPORTATION COMMISSION September 8, 2022 BY: DEBRA MARCH, Chairwoman Attest: MARIN DUBOIS, Management Analyst Approved as to Form: David Clyde RTC Legal Counsel CLARK COUNTY BOARD OF COMMISSIONERS Date of Council Action: BY: JAMES B. GIBSON Chair Attest LYNN MARIE GOYA County Clerk Approved as to Form Deputy District Attorney

Project Name: Sloan Lane, Vegas Valley Drive to Ruby Creek

Project Number: R213AFT

Bid Number: Opening Date: L Number: L - 2219

Design Division Work Order Number:

Date prepared: 05/19/22

100% Final Construction Cost

					CONSTRUCTION COST	
Asset Class	Item No.	Description	Quantity	Unit	Unit Price	Amount
А	105.01	QUALITY CONTROL ADMINISTRATIVE INCENTIVE	1	LS	\$750,000.00	\$750,000.00
А	107.01	TRAFFIC CONTROL	300	DAY	\$200.00	\$60,000.00
А	109.01	CONSTRUCTION CONFLICTS AND ADDITIONAL WORK	1	LS	\$80,000.00	\$80,000.0
Α	109,02	HISTORICAL OWNER CAUSED DELAY ALLOWANCE	0	DAY	\$1,500.00	\$0.00
А	109.03	ADDITIONAL AMOUNT OVER \$1,500.00/DAY AS DETERMINED BY BIDDER	0	DAY	\$750.00	\$0.0
A	200,01	MOBILIZATION	1	LS	\$750,000.00	\$750,000.0
Α	201,01	CLEARING AND GRUBBING	2,3	ACRE	\$1,000.00	\$2,300.0
Р	202.01	REMOVE CONCRETE SIDEWALK	1,265	SF	\$7.00	\$8,855,0
Р	202,02	REMOVE CONCRETE CURB AND GUTTER	630	LF	\$4.00	\$2,520.0
Р	202,03	REMOVE CONCRETE VALLEY GUTTER	300	SF	\$10.00	\$3,000.0
F	202.04	REMOVE CHANNEL WALLS / CHANNEL	1	EA	\$60,000.00	\$60,000.0
F	202,05	REMOVE CONCRETE FLOOD CONTROL APRON	1,925	SF	\$20,00	\$38,500.0
К	202.06	REMOVE AC TRAIL	3,350	SF	\$15.00	\$50,250.0
P	202.07	REMOVE RIP-RAP	4,050	SF	\$30.00	\$121,500.0
ĸ	202.08	REMOVE & RELOCATE LANDSCAPE MONUMENT	1	EA	\$2,500.00	\$2,500.0
P	202.09	REMOVE MEDIAN ISLAND	1,970	SF	\$25.00	\$49,250.0
F	202.10	REMOVE 18" RCP	140	LF	\$45.00	\$6,300.00
F	202.11	REMOVE DROP INLET	3	EA	\$2,500.00	\$7,500.0
P	202.11	REMOVE CHAIN-LINK FENCE	265	LF	\$25.00	\$6,625.0
P	202.12	REMOVE STREETLIGHT AND FOUNDATION	1	EA	\$1,400.00	\$1,400.0
P	202.13	REMOVE AND SALVAGE TRAFFIC SIGN	5	EA	\$70.00	\$350.0
K	202.14	REMOVE & RELOCATE LANDSCAPE BOULDERS	9	EA	\$500.00	\$4,500.0
P	202.16	REMOVE BOLLARD	6	EA	\$125.00	\$750.0
P	202.17	REMOVE AC PAVEMENT / BASE	34,430	SY	\$15.00	\$516,450.0
P	202.18	REMOVE & SALVAGE CONCRETE BARRICADE	4	EA	\$100.00	\$400.0
P	202.19	REMOVE GATE	1	EA	\$500.00	\$500.0
P	202.20	ROADWAY EXCAVATION	950	CY	\$25.00	\$23,750.0
		CHANNEL EXCAVATION	588	CY	\$30.00	\$17,640.0
F	203.02	#67 - 3/4" CONCRETE AGGREGATE ROCK	2,175	SY	\$9.00	\$19,575.0
	212.02	1-INCH COLD PLANING (MICRO MILLING)	8,885	SY	\$10.00	\$88,850.0
Р	217.01		22,600	SY	\$20,00	\$452,000.0
Р	217.02	6-INCH MILL	2,840	CY	\$35.00	\$99,400.0
Р	302.01	TYPE II AGGREGATE BASE	8,925	TON	\$100.00	\$892,500.0
P	402.01	PLANTMIX BITUMINOUS SURFACE	160	SY	\$75.00	\$12,000.0
K	402.02	AC PATH (3" AC WITH 6" TYPE II)	150	CY	\$35.00	\$5,250.0
К	402.03	TYPE II AGGREGATE BASE MAINTENANCE ROAD	40,990	SY	\$10.00	\$409,900.0
Р	413.01	1-INCH UTACS BONDED WITH PMM, S3 GRADATION	1	LS	\$4,176,570.00	\$4,176,570.0
V	502.01	LAS VEGAS WASH BRIDGE (A)		LS	\$400,000.00	\$400,000.0
F	502.02	CHANNEL MODIFICATIONS	1 335	LF	\$250.00	\$83,750.0
F	603.01	18-INCH RCP STORM DRAIN (CLASS III)	335	LF LF	\$300.00	\$56,700.0
F	603.03	36-INCH RCP STORM DRAIN (CLASS III)	189			\$10,000.0
F	609.01	TYPE "A" DROP INLET (L=9.0')	1	EA	\$10,000.00	\$45,000.0
F	609.02	TYPE "CM" DROP INLET 1-GRATE (L=5.0')	5	EA	\$9,000.00	\$45,000.0
F	609.03	TYPE "CM" DROP INLET 3-GRATE (L=10.0')	1	EA	\$12,000.00	
F	609.04	TYPE "CM" DROP INLET 7-GRATE (L=20.0')	1	EA	\$20,000.00	\$20,000.0

Project Name: Sloan Lane, Vegas Valley Drive to Ruby Creek

Project Number: R213AFT

Opening Date: L Number: L - 2219

Bid Number:

Design Division Work Order Number:

Date prepared: 05/19/22

100% Final Construction Cost

					CONSTRUCTION COST	
Asset Class	Item No.	Description	Quantity	Unit	Unit Price	Amount
F	609.05	NDOT TYPE 8 DROP INLET	1	EA	\$10,000.00	\$10,000,00
F	609,06	48-INCH STORM DRAIN MANHOLE (TYPE I)	2	EA	\$7,500.00	\$15,000.00
F	609.07	30-INCH STORM DRAIN MANHOLE & GRADE RINGS	4	EA	\$7,500,00	\$30,000.00
F	609.08	STORM DRAIN MANHOLE (RECONSTRUCT)	1	EA	\$5,000.00	\$5,000.00
F	609.09	SEWER CROSSING (CLSM BACKFILL)	2	EA	\$7,500.00	\$15,000.00
F	609.10	STORM DRAIN MANHOLE CONCRETE COLLAR	4	EA	\$5,000.00	\$20,000.00
Р	613.01	CONCRETE "L" TYPE CURB AND GUTTER	1,798	LF	\$22.50	\$40,455.00
Р	613.02	CONCRETE SIDEWALK	9,450	SF	\$10.00	\$94,500.00
Р	613,03	CONCRETE MEDIAN SURFACE	8,770	SF	\$10.00	\$87,700.00
Р	613.04	CONCRETE "A" TYPE CURB	2,237	LF	\$20.00	\$44,740.00
Р	613.05	CONCRETE COMMERCIAL DRIVEWAY	520	SF	\$15.00	\$7,800.00
Р	613,06	CONCRETE COMMERCIAL / ADA SHARED USED DRIVEWAY	345	SF	\$18,00	\$6,210,00
Р	613.07	CONCRETE SIDEWALK ACCESS RAMP	1,812	SF	\$20.00	\$36,240.00
Р	613.08	CONCRETE VALLEY GUTTER	296	SF	\$12.00	\$3,552.00
Р	616.02	14-FOOT DOUBLE SWING GATE (72-INCH CHAIN-LINK FENCE)	4	EA	\$1,600.00	\$6,400.00
Р	616.03	72-INCH CHAIN-LINK FENCE	120	LF	\$32.00	\$3,840.00
Р	616.04	BOLLARD	7	EA	\$500.00	\$3,500.00
Р	619.02	K71 MEDIAN MARKER POST (WHITE)	13	EA	\$300.00	\$3,900.00
Т	623.01	TRAFFIC SIGNAL UNDERGROUNDS W/INTERSECTION LIGHTING (VEGAS VALLEY)	1	LS	\$50,000.00	\$50,000.00
Т	623,02	TRAFFIC SIGNAL UNDERGROUNDS AT SAHARA / SLOAN	11	LS	\$200,000.00	\$200,000.00
S	623.03	STREET LIGHT - 250W LED	14	EA	\$3,500.00	\$49,000.00
S	623,04	REMOVE AND REPLACE EXISTING LUMINAIRE WITH LED LUMINAIRE	28	EA	\$1,000.00	\$28,000.00
S	623.05	UNDERGROUND STREET LIGHT CONDUIT (4 INCH)	2,530	LF	\$25,00	\$63,250.00
Т	623,06	NO, 3 1/2 PULL BOX	6	EA	\$500.00	\$3,000,00
Т	623.07	NO. 5 PULL BOX	18	EA	\$900.00	\$16,200,00
Т	623,08	DOUBLE STACKED NO. 7 PULL BOX	5	EA	\$1,200.00	\$6,000.00
Т	623,09	TYPE 200 SPLICE VAULT (ITS)	2	EA	\$4,500.00	\$9,000,00
А	626.01	FINAL CLEANUP	1	L\$	\$10,000.00	\$10,000,00
Т	627.01	STREETLIGHT MOUNTED PERMANENT SIGN PANEL	16	EA	\$150.00	\$2,400.00
Т	627.02	POST MOUNTED PERMANENT SIGN	12	EA	\$250.00	\$3,000.00
Р	628,01	TYPE 2 "ONLY" MARKING	14	EA	\$165.00	\$2,310.00
Р	628.02	TYPE 2 (ARROW) MARKING	44	EA	\$165.00	\$7,260.00
Р	628,03	TYPE 2 MARKING FOR CROSSWALKS AND STOP BARS	1,965	SF	\$8.00	\$15,720.00
Р	628,04	PERMANENT PAVEMENT MARKING FILM (SOLID WHITE)	1,400	SF	\$10.00	\$14,000.00
Р	628,05	PERMANENT PAVEMENT MARKING FILM (6-INCH SOLID WHITE)	4,909	LF	\$3.00	\$14,727.00
Р	628.06	PERMANENT PAVEMENT MARKING FILM (8-INCH SOLID WHITE)	1,666	ĻF	\$3.00	\$4,998.00
D	629.01	VERTICALLY ADJUST WATER BLOW-OFF TO FINISH GRADE	2	EA	\$1,500.00	\$3,000.00
D	629.03	RELOCATE WATER BLOW-OFF ASSEMBLY	. 1	EA	\$7,000.00	\$7,000.00
D	629.04	ADJUST EXISTING GATE VALVE TO FINISH GRADE	12	EA	\$800.00	\$9,600.00
D	629.05	RELOCATE EXISTING COMBINATION AVAR	1	EA	\$2,500.00	\$2,500.00
D	629.06	RELOCATE 8-INCH WATER LINE	1	LS	\$20,000.00	\$20,000.00
D	630,01	VERTICALLY ADJUST SEWER MANHOLE GRADE RINGS AND COVER	14	EA	\$1,200.00	\$16,800.00
Р	633.01	NON-REFLECTIVE RAISED PAVEMENT MARKERS	4,361	EA	\$3.00	\$13,083.00
Р	633.02	REFLECTIVE RAISED PAVEMENT MARKERS	1,705	EA	\$4.00	\$6,820,00

Project Name: Sloan Lane, Vegas Valley Drive to Ruby Creek

Project Number: R213AFT

Bid Number: Opening Date: 100% Final Construction Cost

L Number: L - 2219

Design Division Work Order Number:

Date prepared: 05/19/22

					CONSTRUCTION COST	
Asset Class	Item No.	Description	Quantity	Unit	Unit Price	Amount
Р	633.03	360 DEGREE ROUND REFLECTIVE MARKER (YELLOW)	69	EA	\$8.00	\$552.00
А	637.01	DUST CONTROL	300	DAY	\$200.00	\$60,000.00
А	637.02	NPDES DISCHARGE PERMIT	1	L\$	\$10,000.00	\$10,000.00
Т	680.01	INSTALL 4" ITS CONDUIT	6,372	LF	\$30.00	\$191,160.00
Т	680,02	INSTALL "P30" FIBER OPTIC PULL BOX	9	EA	\$1,500,00	\$13,500.00
		SUBTOTAL OF ITEMS / COST				\$10,677,952.00

15% CONTINGENCY

10% CM

3% CS

\$1,601,692.80

\$1,067,795.20

\$320,338.56